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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Solve the problem. y - 6 % l ‘7
2) If y = x3 - 4x - 1, find an equation of the tangent line to the graph ofyatx=2. 2)
/ 2 2
/=Bt —of = T (2 = (-9 =5
If the function is not differentiable at the given value of x, tell whether the problem is a corner, cusp, vertlcal tangent, or
a dlscontmulty (be able to identify ALL non differentiable types- corner, cusp, discontinuity, or vertical tangent).
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Determine the values of x for which the function is differentiable. -3 + \
4)y=

4)

x2 - 81

M =O

Find the horizontal tangents of the curve. >< =" \

m +8x+6 5)

‘= Xy +8& =
i - - 4
Find dy/dx. p S Se \, = Gx *?__
— -— q
G)y:%xw-%xg’ = > 4y 6) p

7Ny= 3x2 + 8x + 3x~3 7

= b +8 —qx ~X *5_

8) y = (x2 - 5x + 2)(4x3 - x2 + 5) Q ~ X _Sx_rz.gé) ‘/—_/—_’\
=Y - / o1 2~

g = w3
= (Lx-3)(x- N I”'.sx
Ux'=~x1S) (122
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